&b AR & E A

OuXl = 536,628,000 536,628

( P%jlg) ool E )
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET

PR 696,628 674,318 22,310
ZMESH(MISX/IN=HESEF) 160,000 210,000 A50,000
INE-=IE=JONE-PIF=))] 160,000 210,000 50,000
ez 160,000 210,000 A 50,000
307 21201 A 10,000 10,000 0
08 OIXt2H = 10,000 10,000 0

O XEIIY AMHX= OIXEN 10,000, 000& 10,000
501 X3 150,000 200,000 50,000
01 RItEXt3 150,000 200,000 A50,000

O MEXS HA 150,000, 000& 150,000
S(FUMEX M) (AMISX/IN=HESH 536,628 464,318 72,310
XN&E(HEd3) 536,628 464,318 72,310
SN 536,628 464,318 72,310
602 Gl Xl = 536,628 464,318 72,310
01 OIXl= 536,628 464,318 72,310




